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No. of Questions — 30 SS—41—Chem.

SENIOR SE(:.‘bli'.‘lll'.l:l'du'ARY_k EXAMINATION, 2015
H|E faar=s
CHEMISTRY
W 3 i- Tv
9 : 56
AZ : BN = FEvEs vA| Gfed dafea w9 4 e
Tt % fae amey
GENERAL INSTRUCTIONS TO THE EXAMINEES ;

- - . - - r [=
EHE] JHRgE Fa4 U5 T3 T mHiE "JiagEs: T

Candidate must write first his / ber Roll No. on the question paper
compuisoniy

2. W9 B w4 At g
All the questions are compulsory.

3.  Wed® WA Wl IO QY TE I-YRaw = = o
Write the answer to each question in the given answer-book only.

4. T vt | s @ €, 39 99 = I Uw A oA o
For questions having more than one part the answers to those parts
are to be written together in continuity.

5. WH W F = g s vueR § S osmn w6t gk / s / Soews ae
T &=t e & e =1 =8 T
If there is any error | difference / contradiction in Hindi & English
versions of the guestion paper, the question of Hindi version should

be treated vabd. .
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13 i
14-24 2
25-27 3
28-30 4
Q. Nos. Marks per question

1-13 I
14-24 2
25.27 3
28-30 4

7 == F== 21, 27, 28, 29 T 30 | H=H& fGFeT £

Question Nos. 21, 27, 28, 29 and 30 have internal choices.

L. T ®) Hiewr 9w S % ge e

Write the formula to calculate the molality.

2. WA FT S1 9EF HEy |

Write the SI unit of Resistivity.

3. Mg?' 3 CI- wEE # 99 HeR S SR 1060 s.em 2 .mol =]

@4 763 s.cm?.mol ™! &1 MgCl, FF ¥ Hew e 719 S|
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Limiting molar conductivities of Mgg"' and Cl- ions are
: 2 =1 o = -
1060 s.cm<.mol and 763 s.cm<.mol ! respectively. Calculate

+ 2 =1

1
2

] [

the limiting molar conductivaty of MgCl,.

Ba(N3)o™ AT SUsRT & &1 8 £ 0 ( su= s = —Se

e )

What happens on thermal decomposition of Ba(N3)y ? ( write only

equation of the reaction 1

CEHE—II‘J—CHE—CHE—CHE- CH, ¥ [UPAC 9 fafian |
CoH5

Write TUPAC name of C2H5—IN- CH,—~CH; CH; CH,. 1
CoHs

[Cr(Hp0)4Bry |Cl & &7+ §aE=s =1 =3 fafmn |

Write the formula of ionisation isomer of {Cr(H;0)4Br5 |Cl. 1

HRRT SR T2 ([1) IS A T 58 e

Write the formula of coordination compound  mercury

tetrathiocyanato-cobaltate (II1). 1
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8. Eﬁ?=ﬁ:mﬁﬁrmmaﬁﬂwmmﬁ

SRE Sl £ 7 (59 AT T SEE0 hEn)

What happens when benzene diazonium chloride reacts with

potassium iodide ? ( write only equation of the reaction ) 1
9. HHHREU IF avF-ig 195 U W amas aer £

Explain that vulcanised rubber is an elastomer. 1
10. =% FEFA ® U oA =E w1 wn devs ] ¥ afhen | o w0

For a reaction the unit of rate constant is sec™l, What will be the

order of reaction ? ' 1
L1, S 24 + B — e ¥ s 37 wEm St

Write differential rate equation for the reaction, 24 - B— 5 product

1

12. H3PO; I 8Fa |1 & 7

What is the basicity of Hy POz ? ]
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S W, 4SS == = Ud 4-EEAmiEE 3 & st T
¥ S2d ¥4 =9ga 3 o0

Arrange benzoic acid, 4-methyl benzoic acid and 4-nitrobenzoic acid in
increasing order of their acidic strength. 1
fReATo e A i 3aTEL0T Hied SHeAES

Explain calcination and roasting with example. 11 =2

T % fapaEeT 3 5= e e FHEse |

Explain denaturation of proisin with an example. 1+1=2

400 K HIoHH T R feees = T 9 0-0821 AR © T Tae =l

e T /eheT & T Sl |R = 00821 Latm K mol ™ |

Osmotic pressure of a solution is 00821 atm at a temperature of

400 K. Calculate the concentration of solution in mol/litre.

(R =00821Latm K 'mol™" | %+1%=2
17. (31) e & f&ga FTEEA % FdE = w5 FE |

(8) TIE FREIAA Soragrs 1 AT &= == |

(a] Write Faraday's second law of electrolysis.

(b) Draw labelled diagram of standard Hg.r_dmg{:n electrode. 1 +1=2
SS—4 1—Chem. §8-6041 [ Turn over
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18. FE=Es Fuwdl 5 U %7 IR Ay 999y ¢

tCHj_ ITCET - 5 ',__:l}":-_' r-“!""fl'-i.} —_—

Compiete the following reaction and explain its mechanism :

b —
bo|—

(CH3 )3CBr+OH™ (aq) ——

Arrange the following compounds in increasing order of their basic

strength. Explain reason :

20. FNTCHF T HEAA GgARH A FE A F= whEn

Write any two differences between addition and condensation

polymerisation. 1+ 1=2

21. () FERM % 302 9 o NaOH fama= = =fufem = 9= =iy
(3)  H3PO, %! ATAEF W& H THET|

Ha=T
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() FoH #1758 5 == Na0H foom= = FsTFa @ g7 fEfEn |

(T PCl-F v=t =9 ==

s ?-Tf:iﬁ% 4 THEE |

al T == o 4 -
{al Write an equation of the reaction of chlorine with cold and

dilute NaOH solution.

(b) Explain the reducing nature of HaPO, . l1+1=2
OR
(a) Write an egquasion of reaction of chlorine with hot and
concentrated NaOH sciution.
(b)

Why are all the five bonds of PCl5 not eqgusvaient ? Explain.

1+1=2 ';
|
22. ¥OH Wife SR g BT 10 sec F = == = e 2 o "E
i | R
Half life period for first order reaction is 10 sec. Calculate the rate 4
1
constant for the reaction. 21l =5 it
3 2 _
{
ri
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3. :*{u"——ir—ézrzg—ﬁa:%mu—-:ﬁﬁt{ﬁ[ﬂt[CNh] o ([[FE Hgs

Explain on the basis of valence
p
spin complex lon.
D4, TEtElET THTETE SRS S w
e AlCl,;
@/ Cl*CHa—Cl >
A CH,-CH,-Cl+ECN—2
(5) CH; - CH=CH, + Hl ——
() CHy-CH, - OH+NaBr+H,S0;, —
Complete the following chemical reactions °
Cl4+CH.—Cl anhydrous AICl;
3_ Cd
o @
(b)  CH,—-CH,-Cl+KCN S
(¢) CH;-CH=CH,+HI——
. -
55—41—Chem. S5-6041
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25. (%) wzEmiE s =5 == IEY S0 F 9 el |
(@) fomes 3 =7 ===wg §4 W 59 WhR 6 SHEes W
(a) Write the values of axial angles for hexagonal crysial sysiem.
(b Which type of semiconductor is obtained by doping boron with
silicon ? Explam =
26. (31) HES e es == =50 € 2
(F) Rl A e =21 € 7 O S350 S
@) M2 (SEE)aET (2 =20 ) T TR W==m =3 Sees s .
TOTAT FRIAT |
(a) What is Lanthanoid contraction 7
(b) What are Interstitial compounds 2 Give 25 example.
: 2+ :
(c) Calculate the 'Spin only’ magnenc moment of M=" ( ag | ion
[(Z=29). 1#%1+1=3
S55—41—Chem. §5-6041 | Turn over
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27. (F) === UcEH F0 FedE 7 U : : |
(=) E':_E Ee o =T oo o o= .--r

== w=E § 3 T Nl TEed 1 SuEm b R
— =
(@) gfee g IMUERT ® $E.0F 55 -3
HaO=T
(=) =oTeS FUHTEE 58 s 5 7 UF 39 [ArE
=) =g ooE § TEES w1 e 5 & 7 ®i S SR S |
() om0 S@F2 o g0 Weed WaeE] § ¢ 0% Hq? bie |
(a) What are non-narcotic analgesics ? Write an example.
(b) Why is artificial sweetening agent, Aspartame used only in soft
drinks and cold foods ?
(c)

Write any one difference between anuseptics and disinfectants.

S5—41—Chem.
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(a) What is anionic detergent ? Write an example.

(b) Why are chemicals added to food ? Write any two reasons.
(c) Write any one difference between broad spectrum and narrow
spectrum anubiotics. % L -21~ +1+1=3
28. (%) USTEH IR0 9 Fed € 2 0% 9w |
(@ = FEvEE = =)
(7)) oEmswEs=== === 49 Hieq HE |
HUAT
(31) 3I°RT & FOoTEET == FE0 £ 7 35T foman |
(F) E e e FASHEs Ug MA-EY S92 7= = ons s o

(®)  feee w6t amitea fog == a5
(a) What is enzyme catalysis ? Write an example.
(b) Which type of emulsion is milk ? Explain.

(c) Explain Electrophoresis with labelled diagram.

+t=+1+1+1=4

b=

1
2
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(a) What is selectivity of catalyst ? Write example.
{b) What happens when hydrated ferric oxide sol is mixed with

arsenius sulphide sol ?
(c) Explain Tyndall effect with labelled diagram.

Lili3+1+1=4
2 2

(m=) Zmr=iEs o = [UPAC =17 T :

29
i CH,=CH-CH,-OH
|
oH OH OH
(@) FsieiEs TeEEs s & FHIET fAhET
) T S CS, W Suri # HHT T
G wEETE E Cu F 39rdfe § 573 K O W T 3 9
e
(3)  amifeiEs AMER & [UPAC T s -
(j CHyO— (EI-I—CH3
CH,
(1) Cﬂa—‘l-‘-ﬂ— CH;OH
CH,4
SS—41—Chem.
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(@) T e FuRAE & HE e
G ©H = 3% HNOF 99
(i) HEE = IR T F WY

(a) Write TUPAC names of the following compounds :
(i CH,=CH-CH,-OH

@ $Ha = iR e
OH OH OH

(b)  Write equations of the following chemical reactions :

(i) Phenol reacts with Brs in presence of CSp

(iij Ethanol is heated at 573 K in prgsence of Cu.

(TN )L+ 1T)=4%
OR
(a) Write IUPAC names of the following compounds !

CH,4

i) CH;—CH—CHz OH

| Tarn over
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30, ()

(=)

(=)

(b)

lc)
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Write equations of the following chemical reactions :

(i} Phenol reacts with conc. HNO 3
(ii) Phenol reacts with zinc dust. 110 e =g

TS AgeE T fewuil fHiEn |
T s, SERNEEE o ® ge § AN @ F

P - = - - .:.-
g gaTie FigT Tl el dogid JH11E0 |

Hgan

SRty F9=as W feopol feRan |

FrAaER e & aEdeiR T WA HUME ale desersel odl

et o . _— e
TE—ET e =] 904 A H g44 S mad = =19l 2450 |

Write a note on Rosenmund reducton.
Why is fluoroacetic acid more acidic than chloroacelic acid ?
Draw the resonating structures of carboxylate 1on.

QNS 1=t
OR

SS—41—Chem. 88-6041
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(a]  Write a note on W olff-Kishner reduction.

Boiling point of carboxvlic acids are higher than aldehydes and

L £ 1
ketones of comparable molecular masses, Why 2

I

Draw the dimer structure of ethanoic acid in vapour state.

2+1+1=4

A Ll

TEAR HERE TO 01 o
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